http://wjst.wu.ac.th Applied Mathematics

On Generalized Composite Fractional Derivative

Mridula GARG^{1,*}, Pratibha MANOHAR², Lata CHANCHLANI³ and Subhash ALHA¹

¹Department of Mathematics, University of Rajasthan, Jaipur, Rajasthan, India

(*Corresponding author's e-mail: gargmridula@gmail.com)

Received: 21 March 2013, Revised: 7 January 2014, Accepted: 5 February 2014

Abstract

In the present paper, we define a generalized composite fractional derivative and obtain results, which include the image of power function, Laplace transform and composition of Riemann-Liouville fractional integral with the generalized composite fractional derivative. We also obtain the closed form solution of a generalized fractional free electron laser equation with this fractional derivative by using the Adomian decomposition method.

Keywords: Adomian decomposition method, free electron laser equation, generalized composite fractional derivative, Laplace transform, Riemann-Liouville fractional integral

Introduction

Fractional calculus is the theory of integrals and derivatives to an arbitrary order, which generalizes integer-order differentiation and integration. Fractional derivatives have proved to be very efficient and adequate to describe many phenomena with memory and hereditary processes. These phenomena are abundant in science, engineering, viscoelasticity, control, porous media, mechanics, electrical engineering, and electromagnetism. Unlike the classical derivatives, fractional derivatives have the ability to characterize adequately the processes involving a past history. Different from classical (or integerorder) derivatives, there are several definitions for fractional derivatives given in different contexts. A few to mention are those given by Liouville [1], Grunwald [2], Letnikov [3], Riemann [4], Riesz [5], Feller [6], Caputo [7], Osler [8], Miller and Ross [9], Nishimoto [10], Hadamard [11,12], Kolwankar and Gangal [13], Hilfer [14] and Jumarie [15].

In the present paper, we give a new definition of a fractional derivative termed as a generalized composite fractional derivative and obtain some basic results for it. We also obtain the solution of a generalized fractional free electron laser equation with the generalized composite fractional derivative using the Adomian decomposition method.

Preliminaries

The Riemann-Liouville fractional integral of order $\alpha > 0, x > a$ [16] is defined as;

$${}_{a}J_{t}^{\alpha}f(t) = \frac{1}{\Gamma(\alpha)}\int_{a}^{t} (t-\tau)^{\alpha-1}f(\tau)d\tau, \quad \alpha > 0,$$
(1)

²Department of Mathematics, S.S. Jain Subodh Girls College, Jaipur, Rajasthan, India

³Department of Statistics, Mathematics and Computer Science, SKN Agriculture University, Johner, Rajasthan, India

with
$$_{a}J_{t}^{0}f(t)=f(t)$$
.

The semi group property of the Riemann-Liouville fractional integral (1) is given by [16];

$$\left({}_{a}J^{\alpha}_{t} \, {}_{a}J^{\beta}_{t}f\right)(t) = \left({}_{a}J^{\alpha+\beta}_{t}f\right)(t), \ \alpha, \beta > 0. \tag{2}$$

The Riemann-Liouville fractional integral of the power function is given by [16];

$${}_{a}J_{t}^{\alpha}\left(t-a\right)^{\lambda-1} = \frac{\Gamma(\lambda)}{\Gamma(\lambda+\alpha)}\left(t-a\right)^{\alpha+\lambda-1}, \ \alpha,\lambda>0. \tag{3}$$

The Laplace transform of the Riemann-Liouville fractional integral (1) is given by [16];

$$L\left[{}_{0}J_{t}^{\alpha}f(t);s\right] = s^{-\alpha}L\left[f(t);s\right], \ \alpha > 0.$$

$$\tag{4}$$

The Riemann-Liouville fractional derivative of order α , $m-1 < \alpha \le m$, $m \in \mathbb{N}$ [16] with x > a is defined as;

$${}_{a}D_{\iota}^{\alpha}f(t) = D_{\iota}^{m}{}_{a}J_{\iota}^{m-\alpha}f(t) = \frac{1}{\Gamma(m-\alpha)}D_{\iota}^{m}\int_{a}^{t} \frac{f(\tau)}{(t-\tau)^{\alpha+1-m}}d\tau, \tag{5}$$

The Riemann-Liouville fractional derivative (5) acts as left-inverse (but not right-inverse) of the Riemann-Liouville fractional integral (1).

The Caputo fractional derivative of order α , $m-1 < \alpha \le m$, $m \in \mathbb{N}$ is defined as [7];

$${}_{a}^{C}D_{t}^{\alpha}f(t) = {}_{a}I_{t}^{m-\alpha}D_{t}^{m}f(t) = \frac{1}{\Gamma(m-\alpha)}\int_{a}^{t} \frac{1}{(t-\tau)^{\alpha-m+1}}D_{t}^{m}f(\tau)d\tau. \tag{6}$$

The composition of the Riemann-Liouville fractional integral operator (1) and Riemann-Liouville fractional derivative (5) is given by [16];

$$\left({}_{a}J_{t}^{\alpha}{}_{a}D_{t}^{\alpha}f\right)(t) = f\left(t\right) - \sum_{k=0}^{m-1} \frac{\left(t-a\right)^{k-m+\alpha}}{\Gamma\left(k-m+\alpha+1\right)} D_{t}^{k}\left({}_{a}J_{t}^{m-\alpha}f\left(t\right)\right)\Big|_{t\to a}, \quad m-1 < \alpha \le m, \ m \in \mathbb{N}. \tag{7}$$

Adomian decomposition method for linear differential/integro-differential equations [17]

We consider the linear differential equation written in an operator form as;

$$Lu + Ru = g, (8)$$

where L is the lower order derivative which is assumed to be invertible, R is the other linear differential operator and g is a source term.

We next apply the inverse operator L^{-1} to both sides of Eq. (8) and use the given conditions to obtain;

$$u = f - L^{-1}(Ru), \tag{9}$$

where the function f represents the terms that arise due to application of L^{-1} to the source term g and the given conditions that are assumed to be prescribed. Further we decompose the unknown function u into a sum of an infinite number of components given by the decomposition series;

$$u = \sum_{n=0}^{\infty} u_n,\tag{10}$$

where the components $u_0, u_1, u_2, ...$ are usually recurrently determined. Substituting (10) into both sides of (9) leads to;

$$\sum_{n=0}^{\infty} u_n = f - L^{-1} \left(R \left(\sum_{n=0}^{\infty} u_n \right) \right). \tag{11}$$

This can be written as;

$$u_0 + u_1 + u_2 + u_3 + \dots = f - L^{-1} (R(u_0 + u_1 + u_2 + \dots)).$$
(12)

The Adomian method uses the formal recursive relationship as;

$$u_0 = f, u_{k+1} = -L^{-1}(R(u_k)), k \ge 0.$$
 (13)

Generalized composite fractional derivative

In this section, we define a generalized composite fractional derivative for $m-1 < \alpha, \beta \le m, \ 0 \le v \le 1, \ m \in \mathbb{N}$, as follows;

$$\left({}_{a}D_{t}^{\alpha,\beta;\nu}f\right)(t) = \left({}_{a}J_{t}^{\nu(m-\beta)}D_{t}^{m}\left({}_{a}J_{t}^{(1-\nu)(m-\alpha)}f\right)\right)(t). \tag{14}$$

In the case that v = 0, (14) gives the Riemann-Liouville fractional derivative of order α as;

$$\left({}_{a}D_{t}^{\alpha,\beta;0}f\right)(t) = D_{t}^{m}\left({}_{a}J_{t}^{(m-\alpha)}f\right)(t) = \left({}_{a}D_{t}^{\alpha}f\right)(t),\tag{15}$$

and for $\nu = 1$, it gives the Caputo fractional derivative of order β as;

$$\binom{a}{b} D_t^{\alpha,\beta;1} f(t) = \binom{a}{b} J_t^{(m-\beta)} D_t^m f(t) = \binom{c}{a} D_t^{\beta} f(t).$$

$$(16)$$

For $0 < \nu < 1$, it interpolates continuously between the Riemann-Liouville fractional derivative of order α and the Caputo fractional derivative of order β .

For $\alpha = \beta$, the generalized composite fractional derivative (14) reduces to the fractional derivative defined by Hilfer [14].

Now, we obtain some results for the generalized composite fractional derivative ${}_{\alpha}D_{\iota}^{\alpha,\beta;\nu}$.

Theorem 1 If $m-1 < \alpha, \beta \le m$, $0 \le \nu \le 1$, $m \in \mathbb{N}$ and t > a, $\lambda > 0$, then;

$${}_{a}D_{t}^{\alpha,\beta;\nu}\left(t-a\right)^{\lambda-1} = \frac{\Gamma(\lambda)}{\Gamma(\nu(\alpha-\beta)+\lambda-\alpha)}\left(t-a\right)^{\nu(\alpha-\beta)+\lambda-\alpha-1}.$$
(17)

Proof In view of definition (14) and the result (3), we get;

$${}_{a}D_{t}^{\alpha,\beta;\nu}\left(t-a\right)^{\lambda-1} = {}_{a}J_{t}^{\nu(m-\beta)}D_{t}^{m}\frac{\Gamma(\lambda)}{\Gamma(\lambda+(1-\nu)(m-\alpha))}\left(t-a\right)^{(1-\nu)(m-\alpha)+\lambda-1}$$

$$= {}_{a}J_{t}^{\nu(m-\beta)}\frac{\Gamma(\lambda)}{\Gamma(\lambda+\alpha\nu-\alpha-m\nu)}\left(t-a\right)^{\alpha\nu-\alpha-m\nu+\lambda-1}.$$
(18)

Using result (3) again, we get (17).

Theorem 2 If $m-1 < \alpha, \beta \le m$, $0 \le v \le 1$, $m \in \mathbb{N}$, then the composition of the Riemann-Liouville fractional integral (1) with the generalized composite fractional derivative (14) is given by;

$$\left({}_{a}J_{t}^{\alpha+\nu(\beta-\alpha)}{}_{a}D_{t}^{\alpha,\beta;\nu}f\right)(t) = f\left(t\right) - \sum_{k=0}^{m-1} \frac{\left(t-a\right)^{k-m+\alpha+\nu(m-\alpha)}}{\Gamma\left(k-m+\alpha+\nu\left(m-\alpha\right)+1\right)} D_{t}^{k} \left({}_{a}J_{t}^{(1-\nu)(m-\alpha)}f\right)(t)\Big|_{t\to a}. \tag{19}$$

Proof For $m-1 < \alpha, \beta \le m$, $0 \le \nu \le 1$, $m \in \mathbb{N}$ the generalized composite fractional derivative (14) can be represented as a composition of the Riemann-Liouville fractional integral (1) and the Riemann-Liouville fractional derivative (5) as follows;

$$\binom{a}{b} D_t^{\alpha,\beta,\nu} f(t) = \binom{a}{a} J_t^{\nu(m-\beta)} D_t^m \binom{a}{a} J_t^{(1-\nu)(m-\alpha)} f(t) = \binom{a}{a} J_t^{\nu(m-\beta)} \binom{a}{a} D_t^{\alpha+\nu(m-\alpha)} f(t).$$
 (20)

Applying ${}_{a}J_{t}^{\alpha+\nu(\beta-\alpha)}$ on both sides and using the semigroup property (2), we get;

$$\left({}_{a}J_{t}^{\alpha+\nu(\beta-\alpha)} {}_{a}D_{t}^{\alpha,\beta;\nu}f \right) (t) = \left({}_{a}J_{t}^{\alpha+\nu(m-\alpha)} {}_{a}D_{t}^{\alpha+\nu(m-\alpha)}f \right) (t).$$
 (21)

In view of the result (7), we arrive at (19).

Theorem 3 For $m-1 < \alpha, \beta \le m$, $0 \le \nu \le 1$, $m \in \mathbb{N}$, the Laplace transform of generalized composite fractional derivative is given by;

$$L\left[{}_{0}D_{t}^{\alpha,\beta;\nu}f(t);s\right] = s^{\nu(\beta-\alpha)+\alpha}L\left[f(t);s\right] - \sum_{k=0}^{m-1}s^{m-k-1-\nu(m-\beta)}\left(D^{k}\left({}_{0}J_{t}^{(1-\nu)(1-\alpha)}f\right)(t)\right)\Big|_{t\to 0^{+}}.$$

$$(22)$$

Proof For convenience, let us write $g(t) = D_t^m {}_0 J_t^{(1-\nu)(m-\alpha)} f(t) = D_t^m h(t)$. Now by definition of ${}_0 D_t^{\alpha,\beta;\nu}$ and in view of the result (4), we have;

$$L\left[{}_{0}D_{t}^{\alpha,\beta;\nu}f(t);s\right] = L\left[{}_{0}J_{t}^{\nu(m-\beta)}g(t);s\right] = s^{-\nu(m-\beta)}L\left[g(t);s\right]. \tag{23}$$

Now writing g(t) in terms of h(t) and using the formula of Laplace transform of m^{th} derivative of a function [18], we can write the right side of (23) as;

$$= s^{-\nu(m-\beta)} \left[s^m L[h(t); s] - \sum_{k=0}^{m-1} s^{m-k-1} \lim_{t \to 0^+} (D^k h(t)) \right]$$
 (24)

where $h(t) = {}_a J_t^{(1-\nu)(m-\alpha)} f(t)$. Using the result (4) for the Laplace transform of h(t), we arrive at the result (22).

In all the above Theorems 1 to 3 if we take $\alpha = \beta$, we get corresponding results for the composite fractional derivative defined by Hilfer [19] as given in the works of [14,19,20] respectively.

Solution of the generalized fractional free electron laser equation with a generalized composite fractional derivative

We use the Adomian decomposition method, to solve generalized fractional free electron laser equation.

Theorem 4 Consider the generalized FFEL equation;

$${}_{0}D_{\tau}^{\alpha,\beta,\nu}a(\tau) = \lambda \int_{0}^{\tau} \xi^{\delta}a(\tau - \xi)\phi(b,\delta + 1;i\eta\xi)d\xi + \mu\tau^{\gamma}\phi(c,\gamma + 1;i\eta\tau), \ 0 \le \tau \le 1, \tag{25}$$

where $\alpha, \beta > 0$; $0 \le \nu \le 1$; $\mu, \lambda \in \mathbb{C}$; $\gamma, \delta, b, c, \eta \in \mathbb{R}$, with $\gamma, \delta \ne 0, -1, -2, ...$ and ${}_{0}D_{\tau}^{\alpha, \beta; \nu}$ is the generalized composite fractional derivative defined by (14) with initial conditions;

$$D_{\tau 0}^{r} J_{\tau}^{(1-\nu)(m-\alpha)} a(\tau) \Big|_{\tau=0} = b_{r}; \ r = 0, 1, 2, \dots, m-1; \ m-1 < \alpha \le m.$$
 (26)

The closed form solution to this problem is given by;

$$a(\tau) = \sum_{r=0}^{m-1} \frac{b_r \tau^{r-m+\alpha+\nu(m-\alpha)}}{\Gamma(r-m+\alpha+\nu(m-\alpha)+1)}$$

$$+ \sum_{k=1}^{\infty} \left\{ \lambda \Gamma(\delta+1) \right\}^k \left[\sum_{r=0}^{m-1} b_r \tau^{k(\delta+\alpha+\nu(\beta-\alpha))+k+r} \phi^* \left(kb, k \left(\alpha + \nu(\beta-\alpha) + \delta \right) + k + r + 1; i\eta \tau \right) \right]$$

$$+ \mu \Gamma(\gamma+1) \sum_{k=0}^{\infty} \left[\tau^{k(\alpha+\nu(\beta-\alpha)+\delta+1)+\gamma+\alpha+\nu(\beta-\alpha)} \phi^* \left(c + kb, k \left(\alpha + \nu(\beta-\alpha) + \delta + 1 \right) + \gamma + \alpha + \nu(\beta-\alpha) + 1; i\eta \tau \right) \right],$$

$$(27)$$

where ϕ^* is the modified confluent hypergeometric function given by;

$$\phi^*\left(a,c,z\right) = \frac{1}{\Gamma(c)}\phi(a,c,z) = \sum_{n=0}^{\infty} \frac{\left(a\right)_n}{\Gamma(c+n)} \frac{z^n}{n!}.$$
(28)

Proof If we take $s = \tau - \xi$ in (25), it transforms to;

$${}_{0}D_{\tau}^{\alpha,\beta;\nu}a(\tau) = \mu\tau^{\gamma}\phi(c,\gamma+1;i\eta\tau) + \lambda\int_{0}^{\tau}(\tau-s)^{\delta}a(s)\phi(b,\delta+1;i\eta(\tau-s))ds, \tag{29}$$

Applying $_0 J_{\tau}^{\alpha+\nu(\beta-\alpha)}$ on both sides of Eq. (29) and using the result (19), with a=0, and initial conditions (26), we get;

$$a(\tau) = \sum_{r=0}^{m-1} \frac{b_r \tau^{r-m+\alpha+\nu(m-\alpha)}}{\Gamma(r-m+\alpha+\nu(m-\alpha)+1)} + {}_{0}J_{\tau}^{\alpha+\nu(\beta-\alpha)} \left[\mu \tau^{\gamma} \phi(c,\gamma+1;i\eta\tau) + \lambda \int_{0}^{\tau} (\tau-s)^{\delta} a(s) \phi(b,\delta+1;i\eta(\tau-s)) ds \right].$$

$$(30)$$

We now decompose the unknown function $a(\tau)$ into a sum of an infinite number of components as;

$$a(\tau) = \sum_{k=0}^{\infty} a_k(\tau). \tag{31}$$

Using the Adomian decomposition method, these components can recursively be obtained by;

$$a_{0}\left(\tau\right) = \sum_{r=0}^{m-1} \frac{b_{r} \tau^{r-m+\alpha+\nu(m-\alpha)}}{\Gamma\left(r-m+\alpha+\nu\left(m-\alpha\right)+1\right)} + {}_{0}J_{\tau}^{\alpha+\nu(\beta-\alpha)} \left[\mu \tau^{\gamma} \phi\left(\eta, \gamma+1; i\eta\tau\right)\right]. \tag{32}$$

and

$$a_{k+1}(\tau) = {}_{0}J_{\tau}^{\alpha+\nu(\beta-\alpha)} \left[\lambda \int_{0}^{\tau} (\tau - s)^{\delta} a_{k}(s) \phi(b, \delta + 1; i\eta(\tau - s)) ds \right], \ k = 0, 1, 2, 3, \dots$$
 (33)

Using (3) and the following formula [21];

$$\int_{0}^{t} \xi^{c-1} \phi^{*}(a,c;\eta\xi) (t-\xi)^{c'-1} \phi^{*}(a',c';\eta(t-\xi)) d\xi = t^{c+c'-1} \phi^{*}(a+a',c+c';\eta t), \operatorname{Re}(c) > 0, \operatorname{Re}(c') > 0, \quad (34)$$

in recursive formulae (32) and (33), we obtain these components as;

$$a_{0}(\tau) = \sum_{r=0}^{m-1} \frac{b_{r} \tau^{r-m+\alpha+\nu(m-\alpha)}}{\Gamma(r-m+\alpha+\nu(m-\alpha)+1)} + \mu\Gamma(\gamma+1) \tau^{\alpha+\nu(\beta-\alpha)+\gamma} \phi^{*}(c,\alpha+\nu(\beta-\alpha)+\gamma+1;i\eta\tau),$$

$$a_{k}(\tau) = \left\{\lambda\Gamma(\delta+1)\right\}^{k} \left[\sum_{r=0}^{m-1} b_{r} \tau^{k(\delta+\alpha+\nu(\beta-\alpha))+k+r} \phi^{*}(kb,k(\alpha+\nu(\beta-\alpha)+\delta)+k+r+1;i\eta\tau) + \mu\Gamma(\gamma+1) \tau^{k(\alpha+\nu(\beta-\alpha)+\delta+1)+\gamma+\alpha+\nu(\beta-\alpha)} \phi^{*}(c+kb,k(\alpha+\nu(\beta-\alpha)+\delta+1)+\gamma+\alpha+\nu(\beta-\alpha)+1;i\eta\tau)\right],$$

$$k = 1,2,3,...$$
(35)

Substituting (35) into (31) we obtain the required result as given by Eq. (27).

Special cases

(1) If we take $\alpha = \beta$ in Theorem 4, we obtain a solution of the following generalized FFEL with a composite fractional derivative defined by Hilfer [14].

Corollary 5 Consider the generalized FFEL equation;

$${}_{0}D_{\tau}^{\alpha,\nu}a(\tau) = \lambda \int_{0}^{\tau} \xi^{\delta}a(\tau - \xi)\phi(b, \delta + 1; i\eta\xi)d\xi + \mu\tau^{\gamma}\phi(c, \gamma + 1; i\eta\tau), \ 0 \le \tau \le 1, \tag{36}$$

where $\alpha > 0$; $0 \le \nu \le 1$; $\mu, \lambda \in \mathbb{C}$; $\gamma, \delta, b, c, \eta \in \mathbb{R}$, with $\gamma, \delta \ne 0, -1, -2, ...$ and ${}_{0}D_{\tau}^{\alpha, \nu}$ is the composite fractional derivative defined by Hilfer [14], with initial conditions;

$$D_{\tau 0}^{r} J_{\tau}^{(1-\nu)(m-\alpha)} a(\tau) \Big|_{\tau=0} = b_{r}, \quad r = 0, 1, 2, \dots, m-1, \quad m-1 < \alpha \le m.$$

$$(37)$$

The closed form solution to this problem is given by;

$$a(\tau) = \sum_{r=0}^{m-1} \frac{b_r \tau^{r-m+\alpha+\nu(m-\alpha)}}{\Gamma(r-m+\alpha+\nu(m-\alpha)+1)} + \sum_{k=1}^{\infty} \left[\left\{ \lambda \Gamma(\delta+1) \right\}^k \sum_{r=0}^{m-1} b_r \tau^{k(\delta+\alpha)+k+r} \phi^* \left(kb, k(\alpha+\delta) + k + r + 1; i\eta\tau \right) \right] + \mu \Gamma(\gamma+1) \sum_{k=0}^{\infty} \left[\tau^{k(\alpha+\delta+1)+\gamma+\alpha} \phi^* \left(c + kb, k(\alpha+\delta+1) + \gamma + \alpha + 1; i\eta\tau \right) \right],$$

$$(38)$$

- (2) On taking v = 0, in Theorem 4, we get the solution of fractional free electron laser equation with Riemann-Liouville fractional derivative, solved earlier by Saxena *et al.* [22] by the method of successive approximations.
- (3) On taking v = 1, in Theorem 4, we get the solution of the generalized fractional free electron laser equation with Caputo fractional derivative studied by Garg and Sharma [23].

Conclusions

In this work, we have defined a generalized composite fractional derivative. We considered generalized fractional free electron laser equation with this fractional derivative. We obtained composition of Riemann-Liouville fractional integral with generalized composite fractional derivative and using this result in Adomian decomposition method, we have solved the fractional free electron laser equation.

Acknowledgements

We thank the referee for providing constructive comments and help in improving contents of this paper.

References

- [1] J Liouville. Memoire sur quelques questions de geometrie et de mecanique et surun nouveau genre de calcul pour resoudre ces questions. *J. Ecole Polytech.* 1832; **13**, 1-69.
- [2] AK Grunwald. Ueber ÷begrenzteø derivationen und deren anwendung. Zeitschrift fur Mathematik und Physik 1867; 12, 441-80.
- [3] AV Letnikov. Theory of differentiation of arbitrary order. *Matematiceskij Sbornik* 1868; 3, 1-68.

- [4] GFB Riemann. Versuch Einer Allgemeinen Auffasung Der Integration und Differentiation. Gesammelte Werke, 1876.
- [5] M Riesz. L'integral de Rimann-Liouville et le problem de Cauchy. Acta Math. 1949; 81, 1-223.
- [6] W Feller. On a generalization of Marcel Riesz' potentials and the semi-groups generated by them. *Comm. Sem. Math. Univ. Lund.* 1952; **72**; 73-81.
- [7] M Caputo. Elasticita e Dissipazione. Zanichelli, Bologna, 1969.
- [8] T Osler. Fractional derivatives and Leibniz rule. Am. Math. Month. 1971; 78, 645-9.
- [9] KS Miller and B Ross. Fractional difference calculus. *In*: Proceedings of the International Symposium on Univalent Functions, Fractional Calculus, and Their Applications, Nihon University, Koriyama, Japan, 1989, p. 139-52.
- [10] K Nishimoto. An Essence of Nishimoto's Fractional Calculus. Descartes Press, 1991.
- [11] J Hadamard. Essai sur l'etude des fonctions donnees par leur development de Taylor. J. Pure Appl. Math. 1892; 4, 101-86.
- [12] AA Kilbas and AA Titjura. Hadamard-type fractional integrals and derivatives. *Tr. Inst. Mat. Minsk* 2002; **11**, 79-87.
- [13] K Kolwankar and AD Gangal. Local Fractional derivatives and fractal functions of several variables. *In*: Proceedings of the Conference on Fractals in Engineering, Archanon, 1997.
- [14] R Hilfer. Application of Fractional Calculus in Physics. World Scientific Publishing, Singapore, 2000.
- [15] G Jumarie. Modified Riemann-Liouville derivative and fractional Taylor series of non-differentiable functions: Further results. Comput. Math. Appl. 2006; 51, 1367-76.
- [16] SG Samko, AA Kilbas and OI Marichev. Fractional Integrals and Derivatives: Theory and Applications. Gordon and Breach Science Publishers, New York, 1993.
- [17] AM Wazwaz. Partial Differential Equations and Solitary Waves Theory. Higher Education Press, Beijing, 2009.
- [18] IN Sneddon. The Use of Integral Transforms. Tata McGraw Hill, 1979.
- [19] R Hilfer, Y Luchko and fi Tomovski. Operational method for the solution of fractional differential equations with generalized Riemann-Liouville fractional derivatives. *Fract. Calc. Appl. Anal.* 2009; 12, 299-318.
- [20] HM Srivastava and Z Tomovski. Fractional calculus with an integral operator containing a generalized Mittag-Leffler function in the kernel. Appl. Math. Comput. 2009; 211, 198-210.
- [21] A Erdelyi, W Magnus, F Oberhettinger and FG Tricomi. *Higher Transcendental Functions*. Vol III. McGraw Hill, New York, 1955.
- [22] RK Saxena and SL Kalla. On a fractional generalization of the free electron laser equation. *Appl. Math. Comput.* 2003; **143**, 89-97.
- [23] M Garg and A Sharma. Fractional free electron laser equation in single mode case with Caputo fractional derivative using Adomian decomposition method. J. Rajasthan Acad. Phys. Sci. 2012; 11, 125-32.